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o FUAT AR Y foh T a7 eat o= & Fied Ivs TEar 10 3R 3R
smﬁr 30 e

e Please make sure that the printed pages in this question
paper are 10 in number and it contains 30 questions.

o U2 YT o U 3K GU 7T IS T BT GIRT 3o IIEcTehl & gl I
R W fordr S g

e The code on the right side of the question paper should be
written by the candidate on the front page of the answer book.

o fRaY ot U2 T 30X &l T Ugel 3R shTeh [oldelT g1 |

e Before beginning to answer a question, its serial number
must be written.

o 3Tl 3R It & IS 8 Todl/ ool Tl o BIS |

e Don't leave blank Page/pages in your answer book.

o 3R Gt & JfaRerd HIs 37 die =g! & Seait [gHfoT
3TIRIHAT ITAR &1 g 3R o gu 3wk &1 o e

e Except this answer book no extra sheet will be given, so write
to the point and do not strike the written answer.

o &Il g2eT IF IR 39T el AR 3a2 ford |




e Candidates must write their roll number on the question
paper.

o FHUT TRFAT I IR A A 4 Ig FIATUT T of o 9o 77 q0T T Fe
&1 AT ¥ Wi 57 AT F FIS 37 gaT TPR AT ReaT ST |

e Before answering the questions, ensure that you have been
supplied with a complete and correct question paper. No
claim in this regard will be entertained after examination.

ATy fAder:

) T g fAarT £

i) IEITASS AT & HEY [ashed o |
i) TR e & 3ok T &N T |

General instructions:

i) All questions are compulsory.
ii) Write the correct option in objective type questions.
iii) Marks of each question are indicated against it.

Physics
Afcehr

Q.1 What is the mathematical representation of the universal
law of gravitation?

I&cdTehYUT o |G T T2 o1 aTOICT YT 37 §?
(A )JF=GMm/R? (B) G=F M m/R?

(C). M=Mm/d?F (D) F=GM/m.

Q.2 If the momentum of an object is P, mass is m and velocity is
v,then how will you represent it mathematically?

Ife; ol aE T TAITP,SSHATT m TUT 9T v 81,1 3 0T §9 H Hh
fer@nar?

(A)mv? (B)m=pv (C )v=mp (D)p=m/p.



Q.3 What is the formula of speed? 1
ATl T ATTD oIl ?
Q.4 Value of the gravitational constant is.............

WWWW .............

1
Q.5 38 TR H & U g: AR (A) IR FRONR)AT T 31T 30geFT
AT T T A JERR AL L

HTADUT (A): Torel TE] T STScd 3Hb GeTHTH o FHITTC BIell &

YT (R ): Tl g el a&] T GeTATH 3Heh STScd T AT BIcl &

(A) A 3R R Gl TcT g TUTR, A T T&l caredT ¢ |

(B) A 3R R ¥t §ohd & T R ,A &1 T e =181 &

(C)ATT &, NI R I

(D) A 38T 8, W R & &

This question below consist of two statements: assertion A and
reason R, answer the question by selecting the appropriate option
given below:

Assertion A: Inertia of an object is directly proportional to its mass.
Reason R: Mass of an object is the measure of its inertia.

(A). Both (A )and (R ) true and( R )is the correct explanation of A.
(B). Both A and R are true but R is not the correct explanation of A.
(C ).Ais true but R is false.

(D). A is false but R is true.

1

Q.6 ST9 IS RNl S8 3releTeh Tehcll 8,1 3T 37T T 3R e I 8 3R
ST faRmT 3raer & arfaeiier el &,dr NS 1 30X g o7 &, #4172

Why do you fall in forward direction when a moving bus breaks to
stop and fall in backward direction when it accelerates from rest?
2

Q .7 HF TcTeT T caX0T 1 g7
What is the value of acceleration in case of free fall?
Aygdar
OR



HTHTASIS 1 AU T &2

Explain the principle of Archimedes? 2

Q.8 FIS TT AT ITTAT T TelalT YRS Xl § AT 2 [FsTe d& 0.1 m/s?Hh
Ueh THTT cal 0T § Teld! & | TRepeleT AT
(a) ST Y IS <Tel TAT ()T T 15 G|
A bus starting from rest moves with a uniform acceleration of
0.1m/s? for 2 minutes. Find the
(a)speed acquired and (b)distance travelled. 3

31dar

OR

Teh 98 1 91t 5s 7 80km/h & G 60km/h Y ST §1§F T caoT JATd
|

Q.9 &afel I Yeeldl H digdl H 3 §d1U|

Distinguish between loudness and intensity of sound. 3

Q.10 ATy TaROT (g )T IEcarehyoT EURTeh (G )3 T 3 &

What is the difference between gravitational constant(G)and gravity

(9)-

3
HF el T caoT FAT G ?
What is the acceleration of free fall?
2
Section -B
A faar
Chemistry
Q. 1173807 I &T HTHAH gldl g—
(A) o g H (B)ga #
(C)yraa (D ) ey & ofr o7
1
The rate of diffusion is maximum in
(A)In solid. (B )In liquid
(C )In gas. (D)none of these

(A)6.023x 107 (B)6.023x 1022



(C )6.022x10%
(D )6.022x10%

Avogadro constant is .....
(A)6.023x 10%
(B)6.023x 10?2
(C )6.022x10%2
(D )6.022x10%°

Q.13 YTy & 1T & T 3T 7 Feolar S fonvam a1 SHgarar g2

Name the process in which solid is directly converted into gas.

Q.1558 921 H & U §: ITHDUT (A) 3R HRON(R) &T 1T 397
RQered &1 T A gU 3R SIfT:

HTAFUA(A): AT Gere 1 Tl SIS 3hr$ & S qramaforen Hffwar
T TE1 Il B

SROT (R ) GefY Tedl & TRATI] Teh AT ¢ |

(A) A 3R Rl TcT § dUTR, A &I Tg! caT&AT ¢ |

(B) A 3R R &t G & T R ,A T TET caeaT +181 &

(C)A T &, NI R ITT ¢

(D) A 38T §, W R&T &

This question below consist of two statements: assertion A and
reason R, answer the question by selecting the appropriate option
given below:

Assertion(A): Atom is the smallest part of an element which cannot
take part in chemical reaction.

Reason(R ): Molecules of an element are made up of atoms of the
same type.

(A). Both (A )and (R ) true and( R )is the correct explanation of A.
(B). Both A and R are true but R is not the correct explanation of A.
(C ).Ais true but R is false.

(D). A is false but R is true.

Q.16 THICI/ATIS 57 3Telel IR AR §Ucll 3a! T gl STl 52



Why does our palm feel cold when we put some acetone or petrol
or perfume on it?
2
Q.17 T IIATI] T AT FeTHTT 4u g 3R 39 A1ffs A ar ureld
8 ISHH fohctel 7ggiel TElr?
Helium atom has an atomic mass of 4u and two protons in its
nucleus.How many neutrons does it have?
3Yar
OR
31R ferdll TRATI] T K 3R L I 8117 81 A 38 TRATI] & Seleelall chl HET
7 grafr?
If the K and L shells of an atom are full then what would be the total
number of electrons in it?
2
Q.18 FATIT =0T Ug fawATefT [T 7 3av Tase |
What is the difference between homogeneous and heterogeneous
mixture?
OR
3HYar

I g Ud AT H 3T TASE |
Tabulate the difference in the characteristics of the state of matter
(solid liquid and gas).

Q.19 A+ &1 IRAT™T hifaT:
(i) gAEATAS

(i) 1qﬂ:ITUTH'C{IT

(iii) aoqa-nd &0

Explain the following:

(i) Isotopes

(ii) Atomic number

(iii) Mass number

Q.20 faF & ¥ faf@T:
(O RSUERLIEIERIES]
(i) g ATNTH FeRTSS
(iii) TSI FRSS



(iv) ATNRrTe 3ifFarss
(v) TR Tethe
Write the chemical formulas of following:
(i) Calcium oxide
(i) Aluminium chloride
(iii) Sodium chloride
(iv) Magnesium oxide
(v) Calcium sulphate

3 dr

OR

I T3 gaRT TaRid A % =1 ffaw:
Write down the name of compounds represented by formulae:
(i) Al(SO,)s
(ii) K; SO,
(iii) Mg(OH),
(iv) Na,CO;
(v) Ca(OH),

Section -C
Biology
CICICEIGH
Q.21 & fostell BX § (A)TEenfaar
(B) csaTEIH
(C)=aAfes
(D) HATSCIRITSAT

The powerhouse of the cell is
(A) Vacuoles

(B) Lysosomes

(C ) Chromatid

(D) Mitochondrion

Q.22 3&d [ YR &1 39 g2
(A) T ferasr

(B) EISir

(C) xRy

(D) 3er=T

What type of tissue is blood?



(A ) Epithelium
(B) Connective

(C ) Bone
(D) Matrix

1
Q.23 T8 Sicteh ST ARV T Bl 62
Which cell is called a dead cell?

1
Q.24 TS ST ITHYTT she— H [TUT &
The National Dairy Research Institute is located in..........

1

Q.25 38 T # & YU §: 3TARYA (A) 3R FRONR)A T 71T 39gFT
e &I TIT A U 3R GISI:

STAHUA( A): TTeT i 11T 3 HITRIeRT T Tofehior T &=l g1 & 3%
CATSHT fSTeel & a1 39TEUd gidT &1

FRUI(R): ST & et T Ereal T ) RETs & & a1 re & IR
X foreTR 7ET i g

(A) A 3R R Gl TcT g TUTR, A T Tl caredT ¢ |

(B) A 3R R ¥t §ohd & T R ,A T T e =181 &
(C)A T g, IR 3T

(D) A 3T 8, W R & &

This question below consist of two statements: assertion A and
reason R, answer the question by selecting the appropriate option
given below:

Assertion(A): In plant cells the cell is made up of glucose and is
present outside the plasma membrane.

Reason(R ): The membrane of an onion peel appears uniform and
does not depend on the size of the onion.

(A). Both (A )and (R ) true and( R )is the correct explanation of A.
(B). Both A and R are true but R is not the correct explanation of A.
(C ).Ais true but R is false.

(D). A is false but R is true.



Q.26 3des Ty Fga &2

Define the term ‘tissue’?

Q.27 I& 9=l AT IR I H AT TS HITAT|
Explain the difference between striated and unstriated muscle.
3dr
OR
ORTEROT AT 872
What is osmosis?

Q.28 FIThT TR & ITUR 9T WRTSAT, PlelThSAT 3R TFFISHAT &
dI T # Aig TIC |

Differentiate between parenchyma,

collenchyma and sclerenchyma in on the basis of their cell wall

Q.29 WY TUT 3 H 3 T Hl |
Differentiate between manure and fertilizer.

Q.30 ()T & FIATHFRT?
What is the function of stomata?
(b)FIET (Fege Ul &1 [y F Fa1 82
What is the specific function of cardiac muscles?
(c) Tiert 7 TRISTAE S o #7fHehr 52
What is the role of epidermis in plants?
(2+3)
3dr
OR
(a)DNAFT QU st H  faf@T]
Write the full form of DNA.
(b) SHITRAT & HET HRT TAHT|
State the main functions of the cell.
(c ) ST IRAHT AT ATHIRT =T F=131T]|
Draw a well labelled diagram of animal cell.
(1+1+3)
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